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(A) 512 & (B) 256 & (C) 128 f;é_ (D) 1024 #&
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(A) COBOL (B) Visual Basic

(C) C++ (D) SQL
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12. IPv6(Internet Protocol version 6)sniz =~ £ & = @ ?

(A) 32 == (B) 64 i+ = (C) 128 =~ (D) 256 i+~
13. 2% 14 2 st i 9

(A)O (B) 2 (C) 4 (D) 8
14.Which of the following types of gates can be used to realize all

switching functions?

(A) AND (B) XOR (C) OR (D) NAND

15.7 & 2 B ~ (CPU) s B ik 7 (machine cycle)s 7 = 5 2% © 34

{7 (execute) ~ f##5 (decode) %



(A) # B~(fetch) (B) #75 (register)
(C) # = (shift) (D) 13 (increase)
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(A) 0110 0001 (B) 1101 1111
(C) 0000 0110 (D) 0101 0100
17.What is the value of output when you attempt to compile and run the
following Java code?
public class Comp{
private String i;
public static void main(String [] args){
System.out.print(new Comp().i);

b
(A) null (B) Exception (C) O (D) 0.0
18.What is the value of output when you attempt to compile and run the
following Java code?
public class Precedence {

public static void main(String args []) {

intx=1,y=2;
inta=x/y-6/3;
System.out.print("a =" + a);
by
by
(A) a=3 (B) a=-1.5 (C) a=-1 (D) a=-2

19.What is the value of output when you attempt to compile and run the

following Java code?



public class Test{
public static void main(String args[]){
inti=1;
i =++1i;
I++;

System.out.print(i);

by
(A) 2 (B) 3 (C) 4 (D) null
20.Which one is not a compiler?
(A) GNU Compiler Collection (GCC)
(B) Firefox
(C) Psyco
(D) Javac
21.Which one is not an object-oriented programming language?
(A) Java (B) C++ (C) C# (D) Fortran
22.There are two C arrays defined as follows:
int a[2][3][2]={6,54,3,2,1,0,-1,-2,-3,-4,-5}:
int b[2][2]={1,2,3,4};
What is the value of a[1][2][0]+b[0][1]?
(A) 2
(B) 0
(C) -1
(D) a[1][2][0]+b[0][1] can not be calculated
23.Consider a C statement, char string[]="first". Which one is correct in

the following statements?



(A) This array contains 5 elements and is equal to
char string[]={'f','i",'r','s",'t'}
(B) This array contains 6 elements and is equal to
char string[]={"f',"1",'r",'s",'t",\n'}
(C) This array contains 6 elements and is equal to
char string[]={"f',"1",'r",'s",'t',\0'}
(D) This array contains 7 elements and is equal to
char string[]={"\0",'f","i",'r",'s','t','\n"}
24.Which sorting algorithm is used in the following C program?
#include<stdio.h>
int main(void){
int a[10]={2,3,4,1,-1,0,10,8,9,10};
intij;
int iIMin;
for (j =0;)<10-1; j++) {
iMin = ;
for (1=j+1;1<10; i++) {
if (a[i] < a[iMin]) {

IMin = i;

}
if (iMin!=j){
int tmp=a[j]; a[j]=a[iMin]; a[iMin]=tmp;

}

return O;



(A) Bubble Sort (B) Selection Sort
(C) Merge Sort (D) Quick Sort
25.What is the smallest number of bits required to represent the value -31
in two's complement notation?
(A) 4 (B) 6 (C) 10 (D) 7
26.In a computer, the subsystem performs calculations and
logic operations.
(A) ALU (B) input/output
(C) memory (D) control unit

27.A step-by-step solution to a problem is called

(A) hardware (B) a computer language

(C) an algorithm (D) a program
28.The data in __is erased if the computer is powered down.

(A) RAM (B) ROM (C) atapedrive (D) a CD-RW
29.A technician uses the “ping 127.0.0.1” command. What is the

technician testing?

(A) the TCP/IP stack on a network host

(B) connectivity between a PC and the default gateway

(C) connectivity between two PCs on the same network

(D) physical connectivity of a particular PC and the network

30.The program counter

(A) stores the address of the instruction that is currently being
executed.

(B) stores the next instruction to be executed.

(C) stores the instruction that is being currently executed.

(D) stores the address of the next instruction to be executed.
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1. What sequence of values will be printed when the following
instructions are executed ? (5 4 )

X« T;
if (X <7) then (print the value 10;
Y <« 7)
else (print the value 2;
Y < 5)

if (Y <6) then (print the value 3)

else (print the value 4)

2. A binary tree has 8 nodes. The inorder and postorder traversal of the
tree follow: (10 4 )

Inorder: FECABHDG
Postorder: FECHGDBA
Please draw the tree.

3. Find the decimal number for the bit pattern 10101010 represented in
each of the following formats:
(1) unsigned integer (2 & )
(2) sign-and-magnitude representation (2 4 )
(3) 2’s complement representation (3 4 )
(4) excess-127 representation (3 4 )

4. Write down the results of the following programs. (= - 485 & » £ 15
A

(1)
int main(){
inti;
for(1=1;1<25;i++){
fF(1%5==0&&1>6){
printf("%d\n", 1*2);
by
¥
return O;
s




(2)

#include <stdio.h>

int main( void )

{
int b[] = { 10, 20, 30, 40 };
int *bPtr = b+2;

return O;

}

printf( "%d ", *( bPtr+1)+2 );

)

#include <stdio.h>
int f(int n) {
if(n==1||n==2){
return 1;
}

else {
return f(n-1) * f(n-2);
}
}

int main(){
printf ("ans: %d\n", f(4) );
return O;

}




